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1 Introduction

In this paper, we will start from the following form of the Schrodinger equation
h2
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and show that U |1) represents the same physical state as |¢) if U € SU(2).! This means that the solutions
of this equation have an SU(2) symmetry.

2 Lemmas

Let V5 be the set of all hermitian traceless complex 2x2 matrices.

Lemma: Any H € V3 can be written as a real linear combination of the Pauli matrices, zo, +yo, + 20, =
r-o.
Proof: Assume H € V5. Then H is hermitian so
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Therefore a and d are real, and b = ¢*. The traceless condition implies that d = —a.
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Lemma: Vs is closed under the action of U € SU(2) defined by U - H = U™ HU for all H € V5.
Proof: We only need to check that U - H is traceless and hermitian to show that it is in V5.

where z,y,z € R [

Te(U'HU) = Te(HUU %) = Tr(H) = 0
by the cyclic property of the trace and since H is traceless.
(UtHU) = UTHY (WU Y)Y = U 'HU
since UT = U~ by unitarity. Therefore U"'HU € V, O

Therefore we can write U~ 1(r - 0)U = r’ - o because the second lemma assures us that the left hand side
is in V5 and the first lemma shows that this must then be some new real linear combination of the Pauli
matrices, so we simply define r’ to be the new set of coefficients.

Lemma: The transformation that takes r to r’ is a linear transformation.
Proof:
(ary 4+ bry) - = U ((ar) +bry) - o)U = U (ar; - o + bry - 0)U

=U Yar,-o)U +U ' (bry- 0)U = ar, - o + brh - o = (ar + brh) - o

We let SU(2) represent the set of matrices mapped to by the defining representation of the group SU(2).



Therefore (arq + bry)’ = ar} + brf, since the Pauli matrices are linearly independent, so the transformation
is linear [

Therefore we can express the transformation as a 3 x 3 matrix R(U), so that r' = R(U)r. We know that
this matrix must be real because both r and r’ are real vectors. This can be shown by setting r = ¢; for
each of the three orthonormal basis vectors.

Lemma: R(U) is a rotation matrix.
Proof: We already know that R(U) is a real 3 x 3 matrix. We notice that

det(H)=| 7,0 "V ==t iy —iy) = (@0 4y 42

and similarly,
det(H') = —(2"* + /* + 2?)
Then we have
det(H') = det(U'HU) = det (U ") det(H) det(U) = det(U) ™" det(H) det(U) = det(H)
SO
x’2+y’2+z’2=x2+y2+z2

Therefore lengths are preserved by the transformation between unprimed and primed coordinates. This
means that R(U) must be either a proper or improper rotation. The improper rotation case is ruled out by
the fact that the parameters of U may be continuously varied to the identity. Therefore R(U) is a rotation
matrix [

This means that acting elements of SU(2) by conjugation on dot products of the form r- o causes a spatial
rotation of the vector r.

3 Spin

Suppose we write the Schrodinger equation with spin, but we replace |¢) with U |¢)) where U € SU(2),
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Then multiply both sides by U~!
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By the lemma this is just
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But this just says that [¢)) is the solution to the same equation in a rotated coordinate system, so we can
say that U |y) = |[¢) where [¢') is the solution in a rotated coordinate system. But by the rotational
invariance of the universe, we know that |¢)) < |¢)'), where the arrow means that the two sides correspond
to the same physical state, even though they may not be equivalent element-by-element (recall that ket
states are coordinate independent). Therefore U |¢) < [¢)).



4 Two Electron System

We can repeat the derivation of the last system for a two-electron system if we use the Kronecker product
to combine the state kets. The original two-particle Schrodinger equation looks like

h?
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We will proceed backwards, starting with a spatial rotation to find the affect on the state kets. The rotated
form looks like
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By the Lemma,
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Now we use the fact that o1 in this expression is a shorthand for o1 ® I (similarly for o2 and use the
mixed product property of the Kronecker product i.e. (A ® B)(C ® D) = AC ® BD,
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Now we apply U ® U to both sides and use the mixed product property,
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So we have found that

Ulx1) @U|xs) = (U U)(|x1) ®|x5)) = [x1) @ [x2)

If we let U — U~! we get the final result that

UeU)Ix1) @ |x2) = [X1) ®|x2) < Ix1) ® |x2)

Therefore there is a symmetry of two particle states under multiplication by matrices of the form U ® U,
where U € SU(2). This set of matrices defines the 2 ® 2 representation of SU(2), sometimes written as
% ® % using the relation d = 2s + 1 to convert from dimension to spin. We still have an SU(2) symmetry,
but in the 2 ® 2 representation of SU(2), the irreducible representations are the 3 and 1 representations.
This is sometimes written as 2 ® 2 = 3 ® 1 and it means that under a suitable similarity transformation
we can block diagonalize U ® U to look like
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with a 3 x 3 block and a 1 x 1 block. In this basis, three of the four independent functions in |x1) ® |x2)
are mixed together, and the fourth is independent. This mixing means that three of the fields must be
physically indistinguishable, which is why the triplet states must have the same energy, but can have a



different energy than the singlet state. When there is splitting between the energies of the triplet states it
is due to higher order corrections from terms that do not possess the symmetries that we have shown here.
It is interesting that we have neglected direct interactions between the two electrons by omitting the
spin-spin terms in the Hamiltonian, yet there is still mixing between the states. This mixing must come
from some mechanism that does not contribute to the energy of the system. Perhaps it is due to the fact
that both particles are interacting with the same magnetic field, so when one interacts with a photon,
that prevents the other from interacting with that photon. This idea comes from the fact that a rotation
necessarily rotates the magnetic field in both terms because it is the same field that is interacting with
both particles.
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